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QUESTION 1

The CTO of a company requires the support of a network consultant to deliver an MPLS solution without resigning to a
certain degree of redundancy and scalability. Which solution effectively scales to hundreds or thousands of sites?

A. L2VPN with the broadcast traffic processed at the ingress PE.

B. L3VPN with direct LSP connectivity between all PEs.

C. L2VPN by encapsulating multiple frame formats with interworking.
D. L3VPN using a hierarchical topology of N-PEs and U-PEs.

Correct Answer: D

QUESTION 2

ip vif mvpn-extranet
rd12:1
vpnid12:1
route-target import 12:2
route-target export 12:3
mdt default mpls mildp 192.168.1.2
exit
ip multicast-routing vrf mvpn-extranet

Refer to the exhibit. What is the effect of this configuration?

A. The mroute table is cleared.

B. Router 1 accepts multicast routes with a tag of 12:1

C. A Cisco MPLS TE tunnel is generated with 192.168.1.2 as the source IP address of router 1.
D. An LSP virtual interface tunnel is created.

Correct Answer: B

QUESTION 3

In Layer 3 MPLS VPN implementations, if some of the VPNv4 routes on one PE router do not appear on another PE
router, what could be the problem?

A. RD mismatch between the PE routers

B. RT export and import configuration errors
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C. VRF name mismatch between the PE routers
D. RD export and import configuration errors
Correct Answer: B

Reference: http://blog.initialdraft.com/archives/1537/

QUESTION 4

DRAG DROP

interface GigabitEthernet0/1
switchport trunk allowed vlan none
switchport mode trunk
service instance 2 ethernet
encapsulation dotiq 10
xconnect 192.168.2.2 22 encapsulation mpls

Refer to the exhibit. Drag and drop the EVC configuration items from the left onto the correct descriptions on the right.

Select and Place:

it denies globally defined VLANS from

SMEIRDE BOCe S egressing and ingressing the port.

It allows the port to operate

semvice Instance 2 ethernet as an 802 1q frunk.

switchport trunk allowed vian none It classifies traffic under a defined process.

it allows the port to process VLAN 10 traffic

xconrect 192.168.2.2 22 encapsulation mpls  Canca lnetanes D,

encapsulation dot1g 10 It defines the pseudowire parameters.

Correct Answer:
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switchport trunk allowed vian none

switchport mode trunk

senvice instance 2 ethernet

encapsulation dot1g 10

xconnect 192.168.2.2 22 encapsulation mpls

QUESTION 5
Refer to the exhibit.

R1

¥I1 clscotest manual
vin id 101
neighbor 192 .168.1 2 encapsulation =pls
neighbor 192.168.10.2 encapsulation mpls
neighbor 192.168.20.2 encapsulation mpls

An organization is running H-VPLS on a network comprising four routers in a hub-and-spoke topology with R1 as the
hub An engineer added a new spoke with multiple VCs to the network, and now traffic cannot flow properly How should
the engineer update the configuration on R1 to correct the problem?

A. Disable spanning tree to allow loops to occur within the hub-and-spoke topology.

B. Disable split horizon to allow multiple VCs per spoke

C. Disable Cisco Discovery Protocol to allow MPLS to share labels between the designated spokes

D. Disable Cisco Discovery Protocol to allow for neighbor discovery

Correct Answer: B
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